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Section 8.1 - Integration by parts
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Lets start with the product rule:
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So, the integration by parts formula is:

J.udv = uv—J.vdu

We use it to “undo” the product rule.

1. Reduction to integrate

x sin (ax), x cos(ax), x'e ,
polynomial -sin(ax), polynomial -cos(ax), polynomial -¢”~

2. Cycling to integrate

cos (ax)sin (bx), cos (ax)ebx, sin (auc)emr

3. Change of Form to integrate J 0 Chn X A-X
In(x) f(x), arctan(x) f(x), arcsin(x) f(x)

(where f(x) has a simple antiderivative)
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W= Iny
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Integration by parts with definite integrals.

I:udvz(uv)|b — jabvdu
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a. x’lnx+C
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e. None of these

2-6 Choose B.
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